2—2 FH2IFEIZHEITIERATENGCHADBEE DR

(%)
[ZF#FE ) _
HRIX B ey FAIX iR
hEHEE 4N n AR,
#% 2.4% PR, 8.1%
: ] )
BEER 1A 0.1%
21N 0.6%
= " INEERR,
BEFI s
19.7% e
R,
26.2%
EBEH AR
chess INFERR 413024 A | 458%
T EET A 236,433 A | 26.2%
59A EEER 177,851 A 19.7%
35.1% PEHEER 1219 A 0.1%
'ﬁﬂu&# E25 73,045 A 8.1%
901,572 A | 100.0%
(FF 23£E EFREATELY)
FEYLEHA| EEE KB A/B
INERR 83A| 413024 A 0.020%
AR 59N 236,433A 0.025%
BEER 21 A| 177851 A 0.012%
hEREER 1A 1219 A 0.082%
BRI ERR aN| 73045 0.005%
&t 168 A] 901,572.A 0.019%
(A1) (B2)
IR R B R R ER
g i,
44N 50.9%
B4,
49.1%
EBEH BRLLE
EES 442,306 A 49.1%
T % 459,266 A 50.9%
it 901,572 100.0%
(FR2IEEEREAAELY)
TEHE KA FERE B A/B
E S 124 8] 442,306 A 0.028%
Z & 44 A| 459,266 A 0.010%
i 168 A] 901,572.A 0.019%




